Friday Afternoon Quiz



Integration 1

Use partial fractions followed by integration by parts

Tsinx dx




Integration 1 Answer
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Integration 2

By suitably rewriting the numerator of the integrand, find a simplified expression for
the following integral.

3cosx+2sinx
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Integration 2
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Integration 3
Use trigonometric 1dentities to find a simplitied expression for
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Integration
Answer

sin2x+C




Decision Maths

Figure 1

Figuic + ouuwo a mvewunn wa iuads between eight villages, A, B, C, D, E, F, G and H. The number
on each arc gives the length, in miles, of the corresponding road.

(a) Use Dijkstra’s algorithm to find the shortest distance from A to H.




Decision Maths Answer

The length of the shortest route 1s 21 miles

Shortestroute: ABCEGFH




Name the artist
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Name the artist Answers

James Blake Joe Armon Jones King Princess '
According

to one
American
magazine,
they
produced
some of
the best
albums in
Bon Iver Billy Eilish 2019




Name the chocolate bar




Name the chocolate bar Answers




s this funny?

A'manthrewamilk bottle at me today
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s this funny? YES

A'man threw amilk hottle at me today

How DAIRY
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